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100 81 10 3 413 SEEH mIE SR 5 14.41 +0.4
100 82 18] 6 149 JIE HEF EIIEGEZ D)) 2 14.41 +0.7
100 83 9 8 410 BEEE AIE SR 6 14.44 +1.1
100 84 11 5 1098 BR BR AP 2 14.44 —0.2
100 85 14 1 181 SN2 FEHPER 2 14.45 +1.8
100 86 14 4 127 Fith =3 KRB E S 3 14.46 +1.8
100 87 14 8 455 s TEF — B —SME PR 4 14.50 +1.8
100 88 13 1 544 ZE 28 é’ruﬁ.—ﬂrt 6 14.52 +2.2
100 89 15 7 285 T3 FERE R 2 14.54 +0.9
100 90 19 1 278 EX LE FEIRE — hee i 2 14.54 +2 1
100 91 10 7 162 e Fnmx R aFRESRER) | 6 14.55 +0.4
100 92 11 4 468 W FUfE EERRER 3 14.56 -0.2
100 93 19] 8 557 R HEE TR F R 3 14.56 +2.1
100 94 14 6 394 ik FEKX KRE—ESK 5 14.57 +1.8
100 95 15 8 1124 INFE B % IBTEF'%fé 3 14.57 +0.9
100 96 11 7 100 /AN % FTEREEFR 4 | 1458 -0.2
100 97 13 8 173 B &5 EHEPFER 7 14.58 +2.2
100 98 18 4 559 =H_HF LB F PR 3 14.59 +0.7
100 99 17 5 99 INFFE BE RS 3 14.61 +0.7
100 100 18 8 50 BH St KRR ZEER 4 14.61 +0.7
100 101 16 8 ZEO B5FI — B R 2 14.63 +1.5
100 102 18 3 43 k& Bk KGR B EE g 5 14.63 +0.7
100 103 16 5 204 ZEO ER B¥ ] Th 3T & 8 3 14.67 +1.5
100 104 |16 6 197 Af FH E&IL 4 [ 1469 +1.5
100 105 15 2 167 mhigR ThE FEFER 4 14.71 +0.9
100 106 24 7 562 =28 EX LB F R 1 14.72 0
100 107 19 4 35 AXH ZFb KR4 4 14.74 +2.1
100 108 15 3 560 ZE L F R 5 14.75 +0.9
100 109 18 2 153 ERKR #H55 I E P ER(EIR) 6 14.75 +0.7
100 110 [ 11 6 212 WNER B B [t 37 ;=5 1% 6 | 1476 -0.2
100 111 16 7 458 =8 nEh — B — S ME PR 5 14.76 +1.5
100 112 17 2 63 B —& TR 5 14.78 +0.7
100 113 [17] 6 100 JnAt B4k LLI FH H 2P A% 4 [ 1478 +0.7
100 114 22 4 378 ZE BE KIRE -5k 1 14.81 +0.9
100 115 20 5 49 TH =5 KR4 1 14.83 -1.0
100 116 8 1 450 E I EEEER 5 | 1484 +1.1
100 117 13 7 66 =t S TR AR 8 14.84 +2.2
100 118 17 7 1097 iyl M ANAY AR 6 14.86 +0.7
100 119 23 8 546 eE £ ETIBSR 1 14.87 +1.1
100 120 17 1 224 FEmRIE bt E-FhER 7 14.88 +0.7
100 121 20 4 357 WEERE P S 2 14.88 -1.0
100 122 17 3 219 i 1 it E - B s 8 14.89 +0.7
100 123 24 4 561 A ZFK LB F R 2 14.89 0
100 124 19 2 217 EHEAHE bt - B e 5 14.95 +2 1
100 125 24 3 547 TH 28 ETIBSR 3 14.98 0
100 126 20 3 814 SH BEx KR mE PR 3 14.99 -1.0
100 127 26 7 930 EE = EXalaa 1 15.01 +2.8
100 128 | 25 3 282 EA ZH EIRE — PR 1 15.02 +1.3
100 129 14 2 169 3 ek FEHEPER 6 15.03 +1.8
100 130 19 3 141 2R BEE iR E PR (A E) 6 15.05 +2.1
100 131 12 2 216 FAREXR b E-FEhER 7 15.07 +2.2
100 132 14 7 395 ki X KRE—5&K 7 15.14 +1.8
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100 133 18 7 152 FE AL S EFER(E IR 7 15.21 +0.7
100 134 21 8 809 =R B JKIRFE PR 1 15.23 +1.2
100 135 22 6 380 E && KRE—EK 2 15.23 +0.9
100 136 23 3 807 Fih UH KRB g 2 15.23 +1.1
100 137 26 5 563 INER BiE IR F R 2 15.24 +2.8
100 138 20 6 1092 5 =5 B Fheis 4 15.27 -1.0
100 139 20 7 175 EA A ERRER 5 15.27 -1.0
100 140 23 2 123 A AL 1= B A 3 15.28 +1.1
100 141 26 6 1105 IE HhE AR 3 15.28 +2.8
100 142 22 5 387 £ 07 KIRE—E5K 3 15.31 +0.9
100 143 11 3 460 INE  FRF EERPER 6 15.36 -0.2
100 144 15 4 1093 AE BIE &R 6 15.36 +0.9
100 145 16 2 473 k% =H EERPER 6 15.36 +1.5
100 146 14] 5 108 21l E# FTEEEFFK 8 15.39 +1.8
100 147 18 1 107 FFHLABH THESEFK 8 15.40 +0.7
100 148 20 2 1103 Fith FZH AR 6 15.43 -1.0
100 149 22 8 174 Al EE FERPER 4 15.43 +0.9
100 150 21 1 221 /J\EJH%H dt_E-F e 2 15.55 +1.2
100 151 19 6 45 2R DX KR A% 7 15.56 +2 1
100 152 25 8 56 Ny 2 T/NER AR 2 15.56 +1.3
100 153 | 22 7 53 P EES I EESR 5 15.59 +0.9
100 154 20 8 180 hH =& FEHEPER 7 15.60 -1.0
100 155 | 22 2 412 BEEZ AHE SR 6 15.70 +0.9
100 156 22 1 222 ERKAE it E - s 7 15.71 +0.9
100 157 21 2 472 HEEA  F7E HEEAFER 3 15.74 +1.2
100 158 | 23] 5 142 FEEaR 7R P AR (R ) 4 | 1574 +1.1
100 159 | 23 4 178 ik =i =R 6 15.77 +1.1
100 160 23 7 59 HEF EKX TR 5 15.77 +1.1
100 161 21 5 42 EZE LT KR =4 4 15.78 +1.2
100 162 22| 3 592 FHEEEE BT 5K 8 | 15.79 +0.9
100 163 23 1 133 Kk BE KREES 7 15.84 +1.1
100 164 | 21 7 474 ki BEH HERPER 5 15.90 +1.2
100 165 | 21 6 462 BEH =5 BEEAPFR 6 15.95 +1.2
100 166 24 6 283 HHE FEFE IR Z R 4 15.97 0
100 167 23 6 272 =2 =i R Z R 8 16.00 +1.1
100 168 | 21 4 452 % X —BE—EMERFR | 7| 1607 +1.2
100 169 26 8 132 Zith 1A KRB E S 4 16.09 +2.8
100 170 12 3 464 ERER Ji& HEARFR 8 16.17 +2.2
100 171 25 6 205 O & BE i) T 3L = 4% 3 16.50 +1.3
100 172 26 4 558 F EZ ILEFHRER 5 16.53 +2.8
100 173 26 3 810 FE 8 KRB R 6 16.57 +2.8
100 174 [ 25 7 134 25 T KREESRK 4 16.95 +1.3
100 175 24 8 105 ki E=i0 TERSEFKR 5 17.04 0
100 176 24 2 102 BRIl IEXE TERSEFK 6 17.13 0
100 1 2 456 E R TEEE SR DNS 0
100 3 7 169 INEF B ETE AES DNS
100 3 8 405 ERR B It EHREER DNS
100 5 5 460 AEIN EEESK DNS
100 6 3 400 D EEH KRE—5 DNS
100 7 7 58 NI EZRE EER DNS
100 8 4 1091 ERXK I+ K ik ehEEgs DNS
100 8 7 369 5 xE KRE—SK DNS
100 8 8 393 hE ER KRE - DNS
100 9 3 34 Bl DFEH 7}<,REP;$)£ DNS
100 9 7 396 B BE&E KRE—SK DNS
100 0] 6 406 =4 BIAS :||:J:¥ﬂﬂﬁ‘§"§ DNS
100 11 8 463 EARRK lctf; EERPER DNS
100 15 6 543 ZE X ETIB SR DNS
100 16 1 475 LA Fﬂi HERFER DNS
100 16] 4 219 AR BX B [ T 37 = 4% DNS
100 19 7 47 =15 & JKIR shEegs DNS
100 21 3 115 Fith BEF = B R R DNS
100 24 5 143 Rl ANy iR PR E) DNS
100 25 4 48 B #DY KR =4 DNS
100 25 5 119 H & = B R DNS
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200 1 1 3 73 FH EX BEFXE 1 25.77
200 2 1 2 68 BRE fRE 1EER 2 26.20
200 3 1 5 65 kg R TEER 3 26.36
200 4 1 1 91 Wa B EFsx@EH) 4 26.52
200 5 2 1 71 a5l V&Y TEER 1 26.76
200 6 2 4 70 REH FIE TEER 2 26.88
200 7 1 6 1029 2R Kb EITEEES 5 27.06
200 8 4 3 53 Bl ERs TEER 1 27.12
200 9 2 5 75 INEF /E =FKE 3 27.20
200 10 4 5 143 fBE ¥ EIIE L s =t 5) 2 27.26
200 11 4 7 144 Fik T Fi EINELEZ RGN 3 27.45
200 12 3 4 374 = Uk KRE—EK 1 27.71
200 13 2 7 64 £k K 1EAERE 4 27.76
200 14 4 6 93 EE EFSEEE) 4 | 2787
200 15 1 8 287 23 Hff AIE S8 6 27.95
200 16 4 2 403 pth FUE T EHREER 5 28.09
200 17 4 4 170 ZH 23 EHRER 6 28.25
200 18 5 6 50 =R Bx —BEE_EK 1 28.25
200 19 3 7 288 Xz BfE KBS 2 28.27
200 20 1 7 7 I EESE REImEPER 7 28.29
200 21 3 2 57 FH BE it 3 28.30
200 22 6 6 46 BiE_Fin JKR R AR 1 28.60
200 23 7 3 51 = KRR 1 28.62
200 24 2 3 423 E ZA K 5 28.65
200 25 2 2 414 {EBEIAE IS 5% 6 28.68
200 26 6 4 56 BAR FEX 1EER 2 28.70
200 27 7 5 385 i i KRE—EK 2 | 2870
200 28 3 3 401 EARR EE dt £ 3 = 4% 4 28.72
200 29 1 4 451 R MK EEmSK 8 28.78
200 30 8 2 220 EEESE it b - s 1 28.80
200 31 2 6 270 i ;uﬁ EIRE i 7 28.82
200 32 3 1 69 BE gE TEER 5 28.87
200 33 5 4 128 {E/zx H{EE KREESK 2 28.91
200 34 3 6 198 2 EERF i—E8 6 28.92
200 35 6 5 55 Vﬂa,*s EES TEER 3 28.98
200 36 5 7 33 = R KRR 3 | 2905
200 37 7 7 60 Ak kE T/ R 3 29.13
200 38 2 8 455 Zith =230 TEEm K 8 29.15
200 39 7 1 55 XE BEF TR 4 29.22
200 40 5 5 73 NESEEES TEER 4 29.26
200 41 5 2 471 X1 If@% HERPER 5 29.28
200 42 8 1 129 = B KREESK 2 29.32
200 43 3 8 213 Jllmﬁ@ﬁ Jt E -mE R 7 29.41
200 44 4 1 424 B = m ZHaKR 7 29.47
200 45 7 8 214 B % EE it £ - 5 29.50
200 46 5 8 413 %Eﬁ@ﬂ* AE S 6 | 2952
200 47 8 4 223 mEhAME it b -FhER 3 29.52
200 48 3 5 635 EE Bx R 8 29.62
200 49 7 6 295 SEEE N A S 6 29.75
200 50 10 4 874 SHGE AIRE S — PR 1 29.76
200 51 9 5 455 s = — B —SMERER 1 29.85
200 52 7 4 181 Sl FiF FEERER 7 29.94
200 53 9 3 144 ik fRE iR R )] 2 30.07
200 54 8 6 127 Zih P‘«*” 7J<,R'r"ﬁ%= R 4 30.11
200 55 8 3 173 Hif &8 FEHPFR 5 30.14
200 56 9 1 410 BEEEE ANEER 3 30.32
200 57 11 3 1120 Z0O [FF] — PR 1 30.32
200 58 9 2 167 HhE ThE FEHPFR 4 30.38
200 59 8 5 162 1Ef Fnex EREoOFESRER) | 6 30.40
200 60 11 7 50 BH 51 KR P2 E 2 30.49
200 61 9 4 169 k& £ FEHRER 5 30.53
200 62 6 8 271 . R E — hER 5 30.67
200 63 4 8 197 AF HY i—E8 8 30.69
200 64 9 7 285 & FEIRE — hEi 6 30.73
200 65 12 5 557 &JII HEE I F PR 1 30.75
200 66 11 8 219 TR A b E-BER 3 30.89
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200 67 12] 6 100 NESERF 273 IR 2 | 31.01 -0.6
200 68 11 2 40 N BE KR =g 4 31.10 -0.5
200 69 9 6 63 ED —& TR AR 7 31.27 -0.9
200 70 10 2 99 NFF BE IEEEE S 2 31.27 -0.8
200 71 10 3 43 ki FH KRR 3 31.37 -0.8
200 72 10 5 216 BAREX bt -mhER 4 31.44 -0.8
200 73 13 6 930 Bk 2 el 1 31.61 -0.8
200 74 6 3 416 BEAEK AINE S 6 31.72 +0.1
200 75 13 4 217 EHEAHE bt -mhER 2 31.77 -0.8
200 76 12 3 45 2R X KR A 3 31.90 -0.6
200 77 11 4 224 FERIE bt -FEhER 5 32.04 -0.5
200 78 14 8 180 hH EE EHPFR 1 32.1 -1.4
200 79 10 6 278 KX L\*E ERE PR 5 32.11 -0.8
200 80 14 3 174 BHE E EHEPER 2 32.13 -1.4
200 81 12 2 49 TH $M KR B E 4 32.21 -0.6
200 82 11 6 53 iz Fid TR 6 32.29 -0.5
200 83 13 5 56 Ny 2 T/ R 3 32.32 -0.8
200 84 13 7 59 HE EXK I EESR 4 32.51 -0.8
200 85 12 8 141 =R IEE iR E R (A E) 5 32.52 -0.6
200 86 12 4 221 INENIER Jt_E-B e 6 32.53 -0.6
200 87 12 7 592 ZthBAESR AIE S’ 7 32.93 -0.6
200 88 0] 8 175 BA 18 FEHFER 6 33.13 -0.8
200 89 14 6 222 LN k- ﬁqﬂ*é* 3 33.33 -1.4
200 90 13 3 145 Hith BT B RERERG 5 33.39 -0.8
200 91 14 7 178 W =B =R Elﬂ%ffx 4 33.48 -1.4
200 92 10 7 803 FiE &8 DYNEEES 7 33.58 -0.8
200 93 8 7 392 NG BE KRE—EK 7 | 3411 -1.0
200 94 13 8 142 EEEEE iR PR (A E) 6 34.16 -0.8
200 95 11 5 272 =i =i FEIRE — hi 7 34.19 -0.5
200 5 3 58 NI SEE EER DNS
200 6 7 34 Bl DEH KR PR DNS
200 7 2 58 dtH #HE T/ DNS
200 8 8 66 =1E S T/NERh g DNS
200 9 8 458 =8 DEM — B —SME S FER DNS
200 13 2 48 B HDY KR P4 DNS
200 14 4 47 =% BRE KGR B g DNS
200 14 5 143 [l ATy iR PR E) DNS
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400 1 1 5 1011 XE $F a2FXRFEGEHID 1 58.78
400 2 1 4 62 EaRK B 1EER 2 59.45
400 3 1 6 192 =l £XK &1t 3 | 1.00.24
400 4 1 7 428 XiE EXE BHEPER 4 | 1.00.33
400 5 2 8 53 5L H”*“ TEER 1 | 1.00.58
400 6 3 3 216 BiE ;fz% R I S 1 [ 1.01.18
400 7 1 2 77 £ EH BEFX=E 5 [ 1.01.64
400 8 2 5 221 B A RE R T 3L = A 2 | 1.01.86
400 9 2 4 206 MR ¥ RE R T 37 = A 3 | 1.02.36
400 10 1 3 370 Zith %73 KRE—E5K 6 | 1.03.10
400 11 4 2 390 EisE K% KRE—E5K 1 | 1.03.14
400 12 4 4 377 Eie Kt KRE—SK 2 | 1.03.46
400 13 2 2 287 T KE S 4 | 1.03.55
400 14 2 3 404 EE EAR I EHmEK 5 | 1.04.19
400 15 2 6 220 2H X8 R S 6 | 1.04.27
400 16 4 7 384 /NER L,;b/u KRE—E5K 3 [ 1.04.43
400 17 3 7 209 BEE FE BE [ Th 3 & 8 2 | 1.05.13
400 18 5 4 386 k& RK KRE—SK 1 | 1.0557
400 19 5 2 398 By =1 KRE—E5K 2 | 1.05.67
400 20 3 5 381 g DI KRE—SK 3 | 1.06.06
400 21 3 8 215 R BF B[ T 3 = A 4 | 1.06.30
400 22 5 7 217 HO =1 RE R T 3L = A 3 | 1.06.54
400 23 4 3 203 ERRK AR % ] Th 3L = 1 4 | 1.07.01
400 24 4 6 226 BHE $E REHIER 5 | 1.07.46
400 25 5 5 227 R #hE RE [ T 3L = AR 4 | 1.08.82
400 26 6 3 295 SEEE AiRE S 1 | 1.08.97
400 27 3 4 457 =S HR TEEESK 5 | 1.09.07
400 28 4 5 225 =HER b _E-BER 6 | 1.10.00
400 29 6 6 228 BiR K RIS 2 | 1.10.22
400 30 6 7 62 aH ¥ N 3 | 1.11.65
400 31 5 3 357 IEELE Jt b g 5 [ 1.13.51
400 32 6 5 204 EO ER RIS 4 | 1.15.46
400 33 6 8 205 HO & B¥ [ T 37 = 4% 5 | 1.25.66
400 1 8 545 CTRCES TSR DNS
400 2 7 172 B thiE EER DNS
400 3 2 170 IR NES ABESK DNS
400 3 6 423 EZE BE ZHaKR DNS
400 4 8 356 FHEEF Jt_E g DNS
400 5 6 222 faIff HEg =% [ Th 3L & DNS
400 5 8 219 AR B RE [ T 37 = 4% DNS
400 6 4 212 NER BF R =4k DNS
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800 1 1 3 215 {ZiE #0 it E - h s 1 | 2.19.75
800 2 1 6 1012 Hh F% KR 2 | 2.23.21
800 3 1 5 272 KEZEH % [if] 3 i = A 3 | 2.24.08
800 4 2 2 402 FE MF LIRS 1 | 2.25.24
800 5 1 7 215 2R EF SR 4 | 22594
800 6 2 3 224 B E&F B [ T 32 = A 2 | 2.25.95
800 7 1 2 277 &= R o] 3 A = 5 | 2.26.21
800 8 3 5 52 YT TEER 1| 2.27.78
800 9 2 1 47 Sl BEX A HR PR (A E) 3 | 22863
800 10 3 7 49 k& B —BEE_SK 2 [ 22871
800 11 4 2 13 WA FiE J\ 3 th BER 1 | 2.30.64
800 12 3 1 61 Kl BEE T/ 3 | 2.30.89
800 13 1 1 190 % BE 141t 6 | 2.32.29
800 14 8 2 75 N BT BEFXE 1| 23326
800 15 1 4 281 THREEH % [of] 3 i = A 7 | 23357
800 16 4 1 54 =X BE IEESR 2 | 23416
800 17 1 8 289 N RE AiniE =i 8 | 2.34.23
800 18 2 4 225 Xt HZ R A S 4 | 2.36.06
800 19 5 7 284 Il SE RS — h R 1 | 2.36.52
800 20 4 7 95 EEEE IR 3 | 2.36.60
800 21 2 8 3 EHl = REERER 5 | 2.37.56
800 22 6 6 271 T EE XS R — hE i 1 | 2.40.07
800 23 5 8 96 4iE BE IEEEESS 2 | 2.40.89
800 24 6 4 357 ik FHE FHERK 2 | 24152
800 25 3 6 165 JIiF 2= EHEPFER 4 | 24204
800 26 5 3 2 £H B REIEPER 3 | 24271
800 27 5 5 8 B EX R ES N 4 | 24312
800 28 8 6 69 CAC T/ R 2 | 24364
800 29 8 3 125 HR BE% = F R 3 | 24394
800 30 6 1 218 ZOERE R it b -E s 3 | 24432
800 31 7 5 105 é ExF IR 1 | 2.45.07
800 32 5 2 62 a5l ¥h T/ 5 | 2.46.97
800 33 6 3 4 Eyl:l = R A FER 4 | 247.76
800 34 4 6 148 KR %4 S E P ER(E ) 4 | 2.48.35
800 35 3 8 459 =2 BE EEE K 5 | 2.48.62
800 36 7 1 126 e 5% KREESK 2 | 250.22
800 37 6 5 38 =t KiE KRR 5 | 250.56
800 38 7 4 279 Fith /K FERE PP 3 | 25350
800 39 8 4 124 EEEEST = By b 2R 4 | 25513
800 40 7 2 292 B <A5H AiRiE = 4 | 2.56.56
800 41 7 6 1121 amEh =M — P HEK 5 | 25752
800 42 6 8 382 INEFE FITY KRE—EE 6 | 2.58.26
800 43 8 8 1107 AEES: TEEDRER 5 | 3.02.20
800 44 7 8 383 FHith piE KIRE—&5K 6 | 3.03.77
800 45 6 2 144 kg BiE R PR (R ) 7 | 307.73
800 46 8 5 276 By 2% FEIRE ZhE i 6 | 3.08.24
800 47 4 3 476 R XK EERHRER 5 | 3.09.29
800 48 7 7 42 EZ2E LT JKR FpEEAR 7 | 3.11.11
800 2 5 166 LG T FERPFR DNS
800 2 6 545 Fl Ex ETIBER DNS
800 2 7 168 52K #A FRPER DNS
800 3 2 281 X B FEIRE Z R DNS
800 3 3 157 He 2% FERASF R R(RAE) DNS
800 3 4 43 NP OBTE —BEAE_EK DNS
800 4 4 177 ZiE KF FEHERER DNS
800 4 5 171 gER FiR FEHERER DNS
800 5 4 225 =HEE db_E-mEhER DNS
800 5 6 890 i KB Bl R DNS
800 6 7 176 B D FEHERER DNS
800 7 3 259 INE DD B oAk DNS
800 8 7 85 B EKA 1EE PR DNS
800 4 8 77 ITE BE 1EER DNS
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1500 1 1 2 283 KEHZ= B o] B A i A 1 | 44185
1500 2 1 1 402 = ﬂ% LIRS 2 | 44313
1500 3 1 7 1012 Hd % K ek 3| 44702
1500 4 1 5 54 EER HA{E TEER 4 | 44715
1500 5 1 4 47 Sl B3R KB ER(FA) 5 | 450.28
1500 6 1 10 224 EHEESE 2% [ T 3L & R 6 | 45056
1500 7 1 9 280 BHBE B ] B Ak = A 7 | 45597
1500 8 1 19 72 5 E8 TEER 8 | 459.12
1500 9 1 11 286 faff RE KBS 9 | 500.74
1500 10 1 14 541 2l HIE il Ak Bp A 10 | 5.00.90
1500 11 1 8 275 N E TS B [ S b = A 11| 5.01.72
1500 12 1 18 76 B EX 1EER 12 | 5.06.73
1500 13 3 14 890 FaEE KB Bl R 1 | 5.06.73
1500 14 2 14 633 Fh FiF ZHaK 1 [ 5.07.02
1500 15 1 16 7 JNE 2T B TR PR 13| 50754
1500 16 2 9 54 A BE TR 2 | 5.07.89
1500 17 2 6 294 ’ﬁiﬂg HDLY KBS 3 | 5.10.49
1500 18 2 8 74 CAIET A EER 4 | 511.48
1500 19 1 12 95 ElE% B5F LI A 14| 5.11.86
1500 20 1 6 3 Rl = REIEPER 15| 5.11.99
1500 21 2 5 291 e HE KBS 5 | 5.12.33
1500 22 1 15 104 ik = THEESEFKR 16 | 5.15.12
1500 23 3 1 96 4iE BE LI AR 2 | 5.16.53
1500 24 2 3 477 =l HFF EEAFER 6 | 517.17
1500 25 2 10 165 JIF 2 FEHERER 7 | 51755
1500 26 2 17 256 = ﬁ EHEPER 8 | 517.76
1500 27 3 11 284 ol HE FEIRE —hEi 3 | 5.21.29
1500 28 2 1 415 = AINESK 9 | 521.72
1500 29 2 15 85 BH XL TEEFER 10 | 5.24.63
1500 30 3 6 268 rHEE B i) S b = A 4 | 5.26.54
1500 31 3 10 218 AEREAR btk -mhER 5 | 5.27.10
1500 32 3 2 210 fE B REHIISK 6 | 527.73
1500 33 3 15 105 E XF L 2R 7 | 5.28.45
1500 34 2 12 171 it B FEPER 11| 5.28.66
1500 35 2 16 201 En =X REHIISR 12 | 5.29.42
1500 36 4 6 352 INERRF b _E s 1 | 5.30.70
1500 37 3 3 445 EEEESE EEESK 8 | 5.31.29
1500 38 3 9 259 INE DD g 9 | 5.32.32
1500 39 4 14 124 R EE =R 2 | 53281
1500 40 2 2 411 REEE ANESK 13| 5.33.65
1500 41 4 1 117 Kl KF =EF PR 3 | 53548
1500 42 4 3 38 =S XiE JKIR AR 4 | 5.36.88
1500 43 4 9 1121 BTS2 —FHER 5 | 5.37.60
1500 44 3 17 120 FrXA B = PR 10 | 5.39.04
1500 45 4 17 69 hAt dh TR 6 | 5.39.37
1500 46 4 10 270 BAR L IE BE [ AR S A 7 | 5.40.02
1500 47 3 13 49 Bk MHERT KH R A) 11| 5.40.95
1500 48 4 2 122 EEEEREE] =P 8 | 5.44.60
1500 49 3 16 465 Z0 Vs EERFER 12 | 5.45.14
1500 50 4 5 151 BiR & ENELEDHE ) 9 | 547.42
1500 51 4 7 279 FHith /K FEIRE —hEi 10 | 5.48.40
1500 52 4 8 114 F:h L = FF R 11 ] 6.05.19
1500 53 3 12 931 HiE BH EAHER 13| 6.06.26
1500 54 4 4 150 M #EH S EFER(ER) 12| 6.07.39
1500 55 4 11 121 T A = FF R 13 ] 6.11.09
1500 56 4 16 276 2 RS FEIRE ZhE i 14 | 6.13.01
1500 57 4 12 453 KEE H¥=E TEEmEK 15| 6.20.27
1500 58 4 15 470 it+E BE EERPER 16 | 6.20.92
1500 59 4 13 145 Hih BT iR E R A) 17| 6.37.04
1500 1 3 261 RINTEE B ] B Ak = A DNS
1500 1 13 157 HEy 2k FEEAF P ER(FAA) DNS
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1500 1 17 63 ERK #BE 1EER DNS
1500 2 4 281 Kt E# EERE — hEE R DNS
1500 2 7 59 it B fEER DNS
1500 2 11 168 E4K E8 FHERER DNS
1500 2 13 118 WHE DE =R DNS
1500 3 4 57 Hih KI5 TR ER DNS
1500 3 5 177 B XKF FEHERER DNS
1500 3 7 113 Fith mARE = B R DNS
1500 3 8 293 =EEIES KBS DNS
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3000 1 1 2 273 = IRERE B o] B A i A 1 | 10.01.79
3000 2 1 1 186 =X BRE REIPER 2 | 10.04.11
3000 3 1 3 215 ‘£ bk -mhER 3 | 10.15.80
3000 4 1 4 286 flEp JEE KBS 4 | 10.42.24
3000 5 1 5 61 Kl BEBERE TR 5 | 10.42.83
3000 6 1 12 2 ¥FH IFEFH TE&AC 6 | 11.03.62
3000 7 1 8 650 S{E EEAR it bR 7 | 11.10.70
3000 8 1 11 204 Fih AHDY ARESE 8 | 11.11.98
3000 9 1 9 633 it BIF EHaK 9 | 11.1359
3000 10 1 6 255 TR B ] B Ak = A 10 | 11.25.98
3000 11 1 15 415 = RS EIEEK 11 ] 11.41.82
3000 12 1 17 210 HE R HIL SR 12 | 11.43.47
3000 13 1 13 99 INFFEFREK TFTEREESEFR 13 | 12.02.87
3000 14 1 16 201 BEn =X REE ISR 14 | 12.03.53
3000 15 1 19 411 REEE IIE S 15 | 12.06.11
3000 1 21 223 it =3 REHILSR DNF
3000 1 7 290 fERK EZE KBS DNS
3000 1 10 291 BE MRE K E SR DNS
3000 1 14 57 Fih XKIB TR DNS
3000 1 18 293 AHF 9% KBS DNS
3000 1 20 202 TR HETE B [E T 3 = AR DNS
3000 1 22 229 Hig 2 B[ T AL &R DNS




HE |(BoEE| M| L— | BRES ;3 iR %| =& | 2%
3000SC 1 1 1 200 miE BA EE ISR 1 [ 12.19.11
3000SC 2 1 3 566 BiE % e PN 2 [ 122461
3000SC 3 1 5 168 aH B AESK 3 | 12.33.34
3000SC 4 1 2 44 [RH #HE —BEEZSKR 4 | 12.37.02
3000SC 5 1 4 207 hEEX £ RE ISR 5 | 12.52.25
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4x100 1 1 4 70 REH FIE TEARA 1 49.20 1
4%100 1 1 4 62 ERK & TEEHA 1 49.20 2
4x100 1 1 4 71 a5H V&Y TEEEA 1 49.20 3
4x100 1 1 4 68 BRE EE {EETRA 1 49.20 4
4x100 2 2 4 64 ik KB 1EEHB 1 50.76 1
4x100 2 2 4 65 ik BBE {EA&HEB 1 50.76 2
4x100 2 2 4 57 FH B 1EEHB 1 50.76 3
4x100 2 2 4 53 Bl B3 1EEHB 1 50.76 4
4x100 3 1 5 217 HO =7 B% [ T 3L = AR 2 50.99 1
4x100 3 1 5 220 2H XEB B% [ T 3L = AR 2 50.99 2
4x100 3 1 5 216 B EXRF BEHII SR 2 50.99 3
4%100 3 1 5 209 RS B% [ th 3L & A 2 50.99 4
4x100 3 1 5 206 WIZEETE ISR 2 50.99
4x100 3 1 5 221 F u?-/z WIS 2 50.99
4%100 4 1 7 146 E@H = S EFEREBA | 3 51.47 1
4x100 4 1 7 143 HE ¥ mIEPEREBA | 3 5147 2
4%100 4 1 7 145 = HIEFERER)A 3 51.47 3
4x100 4 1 7 144 Fik =50 mIEFEREBA | 3 51.47 4
4x100 4 1 7 147 Wik EES mIEFEREBA | 3 51.47
4%100 5 2 3 56 BHR EL TEEHFC 2 52.81 1
4%100 5 2 3 55 kik BER 1EEHC 2 52.81 2
4%100 5 2 3 69 BE 5E 1EEHC 2 52.81 3
4x100 5 2 3 73 ESEEEES 1EEHC 2 52.81 4
4x100 5 2 3 58 NI ESR EAEC 2 52.81
4%100 6 1 2 4530 T EEE & F SR EE) 4 53.54 1
4%100 6 1 2 4528 WaHE B EFSREE) 4 53.54 2
4x100 6 1 2 4526 EiEr (£ EF R @E) 4 53.54 3
4%100 6 1 2 4531 R & F SR FE) 4 53.54 4
4x100 6 1 2 4527 HE = & F 5 x(ﬂﬂa) 4 53.54
4%100 7 1 6 131 Rl =& KIRBEESR 5 53.78 1
4%100 7 1 6 127 Z5ith ;,_*” KREESK 5 53.78 2
4x100 7 1 6 129 = % KRBEESE 5 53.78 3
4x100 7 1 6 128 £ 2K EHEE KIRBEESR 5 53.78 4
4%100 7 1 6 134 EE BE KIRBEESK 5 53.78
4x100 8 2 6 271 BlE KK EIRE Z KA 3 54 81 1
4%100 8 2 6 270 fEZE fEm FERE Z A 3 54.81 2
4%100 8 2 6 285 Il FE BEREE — b iRA 3 5481 3
4x100 8 2 6 277 {REE ERT i RE — R RA 3 54.81 4
4x100 9 1 3 455 it &I TEEmEKA 6 55.42 1
4%100 9 1 3 451 R B AR SKA 6 55.42 2
4%100 9 1 3 450 TR EEH TEEmEKA 6 55.42 3
4%100 9 1 3 457 =B HR TEEFSRA 6 55.42 4
4%100 9 1 3 456 ZEO A TEEFERA 6 55.42
4%100 9 1 3 460 ITAEIN TEEmEKA 6 55.42
45100 10 2 7 152 FiE ALE HJIIEFER(EHE)B 4 55.96 1
4%100 10 2 7 148 KX ¥4 HIERFER(ERHB | 4 55.96 2
4x100 10 2 7 149 JIE BHEF SR FER(EIH)B 4 55.96 3
4x100 10 2 7 153 ERKRK #H#B5 EJII%EP*?';«(E.#&)B 4 55.96 4
4%100 11 3 5 107 %Eﬂ(éﬁ TEESEER 1 56.86 1
4x100 11 3 5 101 =2 1 ,U FTERESEFKR 1 56.86 2
4x100 11 3 5 108 21 & TESEFK 1 56.86 3
4x100 11 3 5 100 INL B TESEER 1 56.86 4
4%100 11 3 5 104 kg TESEFKR 1 56.86
4x100 11 3 5 105 gk #=id TERESEFER 1 56.86
4x100 12 2 5 197 i@% a5 EELLER 5 57.70 1
4%100 12 2 5 198 2 {ERF &S 5 57.70 2
4%100 12 2 5 199 ,r#a_ i EEtER 5 57.70 3
4x100 12 2 5 192 =l XK EELLER 5 57.70 4
4%100 12 2 5 190 k% BE EEILEH 5 57.70
4x100 12 2 5 191 ZH T2 EEILER 5 57.70
4x100 13 3 2 1105 TE HhE TEEDRER 2 58.59 1




BB |KRSIELL|IME|L— |2HGEE K4 & | ik i
4x100 13 3 2 1097 SHE U4 % 2 58.59 2
45100 13 3 2 1103 Fith A 52 2 58.59 3
4x100 13 3 2 1104 ZE FHEE IR 2 58.59 4
4x100 14 3 8 804 EH EF R 3 58.80 1
4%100 14 3 8 803 FE KE 25y 3 58.80 2
4x100 14 3 8 797 INFF EE R 3 58.80 3
4%100 14 3 8 804 ME DE = 3 58.80 4
4x100 15 3 4 59 HE B AR 4 59.11 1
4x100 15 3 4 63 BN —H EaL 5 4 59.11 2
4%100 15 3 4 56 INFF 2 Eas 4 59.11 3
4x100 15 3 4 53 iz EE s 4 59.11 4
4x100 16 2 8 54 BAR EE a5 6 59.47 1
4x100 16 2 8 62 aH D R 6 59.47 2
4x100 16 2 8 61 K BEE 25y 6 59.47 3
4x100 16 2 8 69 hat 25 6 59.47 4
4x100 17 3 7 272 =2 = R 5 59.80 1
4%100 17 3 7 278 KX LE mafead 5 5 59.80 2
4%100 17 3 7 283 HHE FE —?'* 5 59.80 3
4%100 17 3 7 282 Bl 2B 2 5 59.80 4
4x100 18 1 8 356 FHEEF R

4x100 18 1 8 354 ZHLE 5

4%100 18 1 8 350 GRS 5

4x100 18 1 8 346 FHMYA R

4x100 19 2 2 60 Ak E B

4%100 19 2 2 58 ItH #wE B

4x100 19 2 2 55 KiZ BEF XB

4x100 19 2 2 66 =t Sl 2B

4%100 20 3 3 113 it FERFI 58

4%100 20 3 3 117 RIG KF R

4x100 20 3 3 118 WE DE R

4%100 20 3 3 114 Zith 2EE 58

4x100 21 3 6 807 FHih Us K 2B

4x100 21 3 6 809 =EE B K3 2B

4x100 21 3 6 810 FIE B K B

4x100 21 3 6 812 FIE FF 7K3, B

4x100 21 3 6 813 H5H &b i, 2B

4x100 21 3 6 814 aH Ex 7K X B
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